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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) ufemeff geyem 379 J9-3 T ATk JTfaria: fog |

Candidate must write first his / her Roll No. on the question paper compulsorily.

2) Tt 9 e FfHEr |

All the questions are compulsory.
(3) T I T IR & T8 I -Yfaeht # gt ford |

Write the answer to each question in the given answer-book only.
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(4) TS Ui ° srr=afies @ &, 37 ot o 3T U o1y & fod |

For questions having more than one part, the answers to those parts are to

be written together in continuity.

(5) TH-9F & T&< 9 S TR § fopell wepr 61 Ffe/ 3T/ faramymd 81 =
f&wt v <6 e <1 € wt A |
If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version should be

treated valid.

(6) ¥ EE 3P TS T

1-13 1

14 -24 2

25-27 3

28 -30 4

Q. Nos. Marks per question
1-13 1

14-24 2

25-27 3

28 -30 4

(7) T HEAT 21 QAT 27 ¥ 30 H A forehed & |

There are internal choices in Question Nos. 21 and 27 to 30.
(8) TR T SheTepete oh SUANT shi 3TAfd T B |

Use of calculator is not allowed in the examination.

SS-40-Phy. (Supp.)



3
0.20 m. SITH % THET ERT ST=Teh et o I8 W fagd fawa 10 V 7 | 3596 g

o fogqa fawa 61 W= @1 g 2 1

The electric potential is 10 V on the surface of uniformly charged non-
conducting sphere of diameter 0.20 m. What is the value of electric potential on

its center ?

T I bl THHTT shifvT | 1

Define current density.

FrhTT &7 I9H A o 7T HIE & Hidl b A fAfaw | 1

Write name of any two sources to produce magnetic field.

rarehed Treet MR 1 frm fafE | 1

Write Gauss’ law for magnetism.

TeaTad 9T IRdel I IR UMk 0.5 7 | 39 U9 § dleedl T 91T o HET Hhellal
1 IR | 1

The power factor of an AC circuit is 0.5. Calculate the phase difference between

voltage and current in this circuit.
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6. ot yN¢ fr8 hgd @ ?

What is Eddy currents ?

7. Tordl) vered & shifeier 101 W& 31ad-Tes d gy foifigu |

Write the relation between critical angle and refractive index of any substance.

8.  ehraI-farega wuTa an STmafd Jehrer Shi dierar o HeT STRG ST |

Draw a graph between photo-electric current and intensity of incident light.

9. 2-sieA] IfehedaT fefam |

Write De-Broglie hypothesis.

10. 39S ol <hl gyt fefgn |

Write the definition of excitation energy.

11. o9 Fasft ai-gr <1 adie fo= 59T |

Draw symbolic diagram of a NOR gate having three inputs.
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12. 3T WigieTd T o SRR 7q TS 1 sl ITRG FT5Y | 1

Draw block diagram of a receiver for receiving amplitude modulated waves.

13. 1 TTHT o Y0 H W IS G ST < 19 faRam | Vit =1

Name any two apparatus used in observation of nanostructures.

14. T HHIRR Wi WM <l wiel 1 =A@ 0.20 m & | T <iel s 7ed gl 0.10 m T
eI 91 &1l GUTIE Shi 9Tt [1d hifrg | 2
The diameter of the plates of a parallel plate capacitor is 0.20 m. If the distance

between the plates is 0.10 m and the medium is air, then calculate the capacitance

of capacitor.

15. T R ! s 1.5 m T TTII-HE &% 6 x 107 m? ® | Afg 506 & W
favar=® 0.9 V &1 a1 394 yaed fora 9T F1a it |

(wfeRierehdl p = 5.6 x 108 Q m) 2

The length of a wire is 1.5 m and its cross-section area is 6 x 1077 m?. If the
potential difference at its end points is 0.9 V, then calculate the current flowing

in it. (resistivity p = 5.6 x 108 Q m)
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16. (31) favamT, SiceHict S qerT | 8 IuHT 8, Tl 7

(9) werag 1 i ¢ Hmrd fafa | 1+1=2

(a) Potentiometer is better than voltmeter, why ?

(b) Write any two limitations of meter bridge.

17. (31) Y-rehcd o hig &l 3T o 41 feIfaw |
(§) Treehi Wi fohtl shad & 7 JTfaametes 9arel hl Frrehid Yaial &l A fAf |

1+%+%=2

(a) Name any two elements of earth’s magnetism.

(b) What is magnetic susceptibility ? Write the value of magnetic susceptibility

of the superconductors.

18. W JMERY &iF o g1 BT <hl Fshal ISRl 10 cm @1 15 cm & | IS & <l By
gl 12 cm Bl A1 38 TGTe T HYSIHI HT HITT | 2

The radii of curvature of the both surfaces of a convex lens are 10 cm and 15 cm.
If the focal length of the lens is 12 c¢m, then calculate the refractive index of its

material.

19. Yeh1el o foada & 3119 =1 99 8 ? <feh Sita O «afe & foerda sl smar 9 dfera

T Hehd B ik TohI3N o faad ol &1, 91 7 1+1=2

What do you understand by diffraction of light ? In daily life, the diffraction of

sound can be easily observed but not the diffraction of light, why ?
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20. SehreT-Toregga ywTE fohdl shad & ¢ FRieh fawa <t v fafaw | 1+1=2

21.

22.

What is photo-electric effect ? Write the definition of stopping potential.

Toreft et o aftay H 9y 1 FRER WH 6 A 2 | ToTed 9w wE oy 9 % /e
ST <hITSU, 3Afe ahue #

(i) et & 3Tiet ST & |

(i) T g s e 8 | 1+1=2

YT

8 FHT T HiTTe T8 R gemerd ! € st /1 379 et 7 %H@W’a"ﬂ |2

In an AC circuit peak value of current is 6 A. Find the value of alternating

current and direct current in the circuit, if
(1) Alternating current Ammeter is used.
(11) Direct current Ammeter is used.

OR

. . . . I .. .
Obtain the time when alternating current will be — times of its peak value.

V2

ARreh forgue qe Aiirehi goreq fra ad 8 ? 1+1=2

What is nuclear fission and nuclear fusion ?
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23. PN T ‘39e@ wa’ wg ‘fava Uftrepr st aftriya shifse | 1+1=2

Define ‘depletion layer’ and “potential barrier’ in PN junction.

24. Toga grahi ati & #is 9 stfiraen il | 2

Write any four characteristics of electro-magnetic waves.

25. TS ! T TR | T FHA JAThR HUSTH! oh THEhed 1 sl I
e | 1+2=3

Write the definition of self inductance. Derive an expression of the self

inductance of a plane circular coil.

26. IS UTHTY] 6T naff Hel | Sorareia shl ol Holl bl SISIeh UTH I | FKUMTcH
Sl | T AN R ? 2+1=3

Obtain an expression of the total energy of the electron in nth orbit of H-atom.

What do you mean by negative energy ?

27. PN & ST o1 il a1 3g fewshRl & &9 § T i &g Uil fom sH1se | 35eh!
SR T Ieoig HIFTT | 1+2=3

YT

ISR T 3MUR 9gd Sish Ud Udell I Bidl 8 7 Il Jaedsh &1 salich 3TRE
FATST | 2IRTEET o G Y€ 0N o, 9 B T a8 Tfya Hifre | 1+1+1=3
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Draw a circuit diagram to use the PN junction diode as a full wave bridge

rectifier. Mention its procedure.
OR
Why is the base region of a transistor made very thin and lightly doped ?

Draw block diagram of transistor amplifier. Establish a relation between current

amplification factors a and [ for transistor.

forgra foya ford =vga € 7 foera foge & o svefie Y w g foreht forg  forega

&5 SR sTeh UTH <hIfSTT | 3TTergeeh for samd | 1+2+1=4

YT

foreld woTer TRt Shad @ 7 TTISE o | ¥ 3T (@ TS qR o R0l fepet forg

o ferga &t 1 <fierar o1 Ssteh SYcaa i | 31marveres o s | 1+2+1=4

What is electric dipole ? Obtain the expression of the electric field at a point on
the axial line due to the electric dipole. Draw necessary diagram.

OR

What is electric flux ? Derive an expression of intensity of electric field at any point

due to an infinitely linear charged wire by Gauss law. Draw necessary diagram.
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29. SEI-®TE oW 1 g7 |fey ®9 § fRa | Rt garRreTe AR Hued! % 31 T

TrEhIT &7 T ST YA HITTT | ST o S1ST | 142+1=4

YT

uftrr &1 form ittt ®v & forfgu | foreht aremdl 2irge i 3181 W b & &6

STk UTH hITTT | 3ATe9eh o §4T8T | 1+2+1=4

Write the formula of Biot-Savart’s law in vector form. Derive an expression of
magnetic field on the axis of a current carrying circular coil. Draw necessary

diagram.
OR

Write Ampere’s law in mathematical form. Obtain an expression of magnetic

field on the axis of a current carrying toroid. Draw necessary diagram.

30. eRTST o YAl shi TR feiRaw | fepier firem o1 ArmTfeoha st ST 38eh! sHTae T

Hrfafy w1 guia HifST | 1+1+1+1=4
SYET

< 3fe < Rl ed § 7 T STaadsh qledlf Y sHTEE 1 9 AT | R

JTTSE ST ST A ITH HIFT | TTawareh oo fo 18T | 1+1+1+1=4
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Define polarization of light. Describe the construction and working of Nicol

prism with the help of labelled diagram.

OR

What is hypermetropia ? Describe the construction of astronomical refracting

telescope. Obtain a formula for its magnification. Draw necessary ray diagram.
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